## Fill in this information to identify the case:

Debtor 1 Fox Ortega Enterprises, Inc.

Debtor 2

(Spouse, if filing)

United States Bankruptcy Court Northern District of California \_\_\_\_\_

FILED U.S. Bankruptcy Court Northern District of California

3/2/2016

Edward J. Emmons, Clerk

## Official Form 410 Proof of Claim

12/15

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

Part 1: Identify the Clair	n						
1.Who is the current creditor?	Edward Hafer						
	Name of the current creditor (the person or entity to be paid for this claim)						
	Other names the creditor used with the debtor						
2.Has this claim been acquired from someone else?	<ul> <li>✓ No</li> <li>☐ Yes. From whom?</li> </ul>						
3.Where should notices	Where should notices to the creditor be sent?	Where should payments to the creditor be sent? (if different)					
acquired from someone else?	Edward Hafer						
	Name	Name					
	8333 Beech Street Arvada, CO 80005						
	Contact phone7209363594	Contact phone					
	Contact email edwardhafer@gmail.com	Contact email					
	Uniform claim identifier for electronic payments in chapter 13 (if you use one):						
4.Does this claim amend one already filed?	<ul> <li>No</li> <li>Yes. Claim number on court claims registry (if known</li> </ul>	) Filed on					
		MM / DD / YYYY					
5.Do you know if anyone else has filed a proof of claim for this claim?	Yes Who made the earlier filing?						
Official Form 410	Proof of Claim	page 1					

6.Do you have any number you use to identify the debtor?		No         Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:						
7.How much is the claim?	\$	3503.23 <b>Does this amount include interest or other charges?</b> ✓ No						
			Yes. other	Attach statemen charges require	t itemizing i d by Bankru	nterest, fees, expenses, or uptcy Rule 3001(c)(2)(A).		
8.What is the basis of the claim?	death, Bankru Limit d	amples: Goods sold, money loaned, lease, services performed, personal injury or wrongful th, or credit card. Attach redacted copies of any documents supporting the claim required by hkruptcy Rule 3001(c). it disclosing information that is entitled to privacy, such as healthcare information.						
	Goods	oods sold and not delivered and payment due for cancelled invoices						
9. Is all or part of the claim secured?		s. The claim is secured b ature of property: ] Real estate. If the cla Proof of ] Motor vehicle ] Other. Describe:	aim is sec	ured by the debt	or's principa Il Form 410	al residence, file a <i>Mortgage</i> –A) with this <i>Proof of Claim</i> .		
	В	Basis for perfection:						
	ir	Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.)						
	v	alue of property:	:	6				
		mount of the claim tha ecured:	t is	6		_		
	A	mount of the claim tha nsecured:	it is	6		(The sum of the secured and –unsecured amounts should match the amount in line 7.)		
	A d	Amount necessary to cure any default as of the s						
	A	Annual Interest Rate (when case was filed)				%		
10.Is this claim based on a lease?		o es. <b>Amount necessary</b>	to cure a	ny default as o	f the date c	of the petition.\$		
11.Is this claim subject to a right of setoff?		o es. Identify the property:	- -					
Official Form 410		_	roof of Cl			page 2		

12.Is all or part of the claim entitled to priority under 11 U.S.C. § 507(a)?		No Yes. <i>Check all</i>	l that apply:				Amount entitled to priority
A claim may be partly priority and partly nonpriority. For example in some categories, the lawl imits the amount entitled to priority.		Domestic su under 11 U.S	pport obligat S.C. § 507(a)	ions (includi )(1)(A) or (a)	ng alimony ar (1)(B).	nd child support)	\$
					\$		
		Wages, salar 180 days bef	ries, or comr fore the banl	kruptcy petiti	to \$12,475*) on is filed or t 11 U.S.C. § 50	he debtor's	\$
		□ Taxes or per 507(a)(8).			-		\$
			s to an emple	oyee benefit	plan. 11 U.S.	C. § 507(a)(5).	\$
		Other. Speci	fy subsection	n of 11 U.S.(	C. § 507(a)(_)	that applies	\$
		* Amounts are subjoint of adjustment.	ect to adjustme	ent on 4/1/16 ar	nd every 3 years	after that for cases	begun on or after the date
Part 3: Sign Below							
The person completing this proof of claim must	Che	ck the appropriat	te box:				
sign and date it. FRBP 9011(b).	I am the creditor.						
If you file this claim	I am the creditor's attorney or authorized agent.						
electronically, FRBP 5005(a)(2) authorizes courts	I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.						
to establish local rules	I am a guarantor, surety, endorser, or other codebtor. Bankruptcy Rule 3005.						
specifying what a signature is.	I understand that an authorized signature on this Proof of Claim serves as an acknowledgment that when calculating the amount of the claim, the creditor gave the debtor credit for any payments received toward the debt.						
A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both.	I have examined the information in this Proof of Claim and have a reasonable belief that the information is true and correct. I declare under penalty of perjury that the foregoing is true and correct. Executed on date 3/2/2016						
18 U.S.C. §§ 152, 157 and 3571.							
	LAG		3/2/2016				
			MM / DD	/ ΥΥΥΥ			
	/s/ 1	Edward Hafer				_	
	Sign	ature					
	Prin	t the name of the	e person who	o is completi	ng and signing	g this claim:	
		Name		Edward Hafer			
	Title	9		First name	Middle name	Last name	
	Cor	npany					
				Identify the co servicer	orporate servicer	as the company if t	the authorized agent is a
	Add	lress		8333 Beech	Street		
				Number Stre Arvada, CO			
	Cor	itact phone	7209363594	City State Z	ZIP Code Email	edwardhafer@g	mail.com

Official Form 410

Proof of Claim



## Account overview

Whitney Jacobson <whitney@premiercru.net> To: Edward Hafer <edwardhafer@gmail.com>

Ed,

I have created the task to have those items refunded to check. We will mail it to the 8333 Beech Street address we have on file, and the turn around for refund checks is typically 2-3 weeks.

Thanks again,

Whitney

From: Edward Hafer [mailto:edwardhafer@gmail.com] Sent: Wednesday, December 02, 2015 10:01 AM To: Whitney Jacobson; Mederick Ravel Subject: Re: Account overview

Whitney,

Please refund the \$496.42, I look forward to getting the champagne.

Medrick - good to meet again. I look forward to getting this account all sorted out.

Thank you,

Ed [Quoted text hidden] Wed, Dec 2, 2015 at 11:20 AM

2010 Gevrey Cazetiers Magnum, Jadot, 1.5 L	\$145.00	1	145
2013 Nuits St Georges les St Georges, Chevillon, 750 ml	\$95.00	1	95
2002 Dom Ruinart Rose, 750 ml	\$167.99	1	167.99
2002 Billecart Salmon Cuvee Nicolas Francois Magnum, 1.5 L	\$225.00	1	225
2004 Philipponnat Clos des Goisses, 750 ml	\$135.00	1	135
2004 Pol Roger Blanc de Blanc, 750 ml	\$39.99	2	79.98
2004 Pol Roger Blanc de Blanc, 750 ml	\$55.24	2	110.48
2004 Pol Roger Brut, 750 ml	\$39.99	4	159.96
2004 Bollinger Grand Annee Rose, 750 ml	\$89.99	3	269.97
2010 Chianti Classico Riserva Rancia Magnum, Felsina, 1.5 L	\$59.99	3	179.97
2004 Le Brun-Servenay Tresor Exhilirante V.V., 750 ml	\$64.99	2	129.98
Jacquesson Cuvee 736, 750 ml	\$52.99	2	105.98
2004 Le Brun-Servenay Brut Grand Cru Millesime, 750 ml	\$40.79	2	81.58
2012 Nuits St Georges les St Georges, Chevillon, 750 ml	\$125.00	1	125
2011 Nuits Vaucrains Magnum, Jadot, 1.5 L	\$79.99	1	79.99
2012 Chevalier Montrachet, Bouchard, 750 ml	\$149.99	1	149.99
2002 Egly-Ouriet Brut Grand Cru, 750 ml	\$100.00	1	100
2011 Dow Magnum, 1.5 L	\$145.00	1	145
2011 Chablis Clos, Billaud-Simon, 750 ml	\$39.99	2	79.98
2011 Dow Magnum, 1.5 L	\$145.00	1	145
2011 Chablis Bougros Cote de Bouguerots, Fevre, 750 ml	\$39.99	1	39.99
2011 Chassagne La Romanee Magnum, Jadot, 1.5 L	\$99.99	1	99.99
2011 Chablis les Clos, Fevre, 750 ml	\$45.00	1	45
2011 Chablis Preuses, Fevre, 750 ml	\$45.00	1	45
2011 Chablis Vaulorent, Fevre, 750 ml	\$32.99	2	65.98
			3006.81